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• 𝑆𝐷 𝐾𝑜𝑛

•

𝜕 𝐴

𝜕𝑡
= 𝐷𝐴∇

2 𝐴 + 𝐾𝑜𝑓𝑓 𝐶 − 𝐾𝑜𝑛 𝐴 [𝐷] − 𝐾𝑑𝑒𝑔
𝐴 [𝐴]

𝜕 𝐶

𝜕𝑡
= 𝐷𝐶∇

2 𝐶 + 𝐾𝑜𝑛 𝐴 [𝐷] − 𝐾𝑜𝑓𝑓 𝐶

𝜕 𝐷

𝜕𝑡
= 𝐷𝐷∇

2 𝐷 + 𝐾𝑜𝑓𝑓 𝐶 − 𝐾𝑜𝑛 𝐴 𝐷 − 𝐾𝑑𝑒𝑔
𝐷 [𝐷]

•

•

•

Score =
Auptaken

Atotal
∙ 100

t = 0.325s

𝑺𝑫 𝜇𝑚−3𝑠−1

𝑼𝑨 𝑠−1

𝑫𝑨 𝜇𝑚2𝑠−1

𝑫𝑫 𝜇𝑚2𝑠−1

𝑫𝑪 𝜇𝑚2𝑠−1

𝑲𝒅𝒆𝒈
𝑨 𝑠−1

𝑲𝒅𝒆𝒈
𝑫 𝑠−1

𝑲𝒐𝒏 𝜇𝑚3𝑠−1

𝑲𝐨𝒇𝒇 𝑠−1

[𝑨]𝑡=0 𝜇𝑚−3

•

•

ቤ
𝜕 𝐴

𝜕𝑡
𝑥=𝑠𝑢𝑟𝑓

= −𝑈𝐴 𝐴 𝑠𝑢𝑟𝑓

ቤ
𝜕 𝐷

𝜕𝑡
𝑥=𝑠𝑢𝑟𝑓

= 𝑆𝐷

ቤ
𝜕 𝐶

𝜕𝑥
𝑠𝑢𝑟𝑓

= 0ቤ
𝜕 𝐴

𝜕𝑥
𝑠𝑢𝑟𝑓

= 0, ቤ
𝜕 𝐷

𝜕𝑥
𝑠𝑢𝑟𝑓

= 0,
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•

• 10−3

t = 0.350s

n = 250
simulations

•

•

•

•

t = 0.45st = 0.15s

t = 0.325s

𝑆𝐷=10
5

𝑆𝐷=10
4

𝑆𝐷=10
3


